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Abstract	
  Interpreta3on	
  [Cousot’77]	


•  Mathema3cal	
  founda3on	
  of	
  sta3c	
  analysis	
  
– Abstract	
  domains	
  

•  Abstract	
  states	
  	
  	
  
•  Join	
  (7)	
  	
  	
  

– Transformer	
  func3ons	
  
•  Abstract	
  steps	
  	
  	
  

– Chao3c	
  itera3on	
  	
  
•  Structured	
  Programs	
  	
  	
  
•  Abstract	
  computa3on	
  



Abstract	
  (conserva3ve)	
  interpreta3on	


set	
  of	
  states	
   set	
  of	
  states	
  
opera3onal	
  seman3cs	
  
(concrete	
  seman3cs)	
  

statement	
  	
  S	
  
set	
  of	
  states	
   `

abstract	
  	
  
representa-on	
   abstract	
  seman3cs	
  

statement	
  	
  S	
   abstract	
  	
  
representa-on	
  

concre3za3on	
   concre3za3on	
  



Abstract	
  Interpreta3on	
  [Cousot’77]	


•  Mathema3cal	
  founda3on	
  of	
  sta3c	
  analysis	
  
– Abstract	
  domains	
  

•  Abstract	
  states	
  	
  	
  
•  Join	
  (7)	
  	
  	
  

– Transformer	
  func3ons	
  
•  Abstract	
  steps	
  	
  	
  

– Chao3c	
  itera3on	
  	
  
•  Abstract	
  computa3on	
  	
  	
  
•  Structured	
  Programs	
  	
  	
  

La_ces	
  
(D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  	
  

Monotonic	
  
func3ons	
  

Fixpoints	
  



Chains	


•  d	
  a	
  d’	
  	
  means	
  d	
  b	
  d’	
  and	
  d	
  g	
  d’	
  

•  An	
  ascending	
  chain	
  is	
  a	
  sequence	
  
x1	
  a	
  x2	
  a	
  …	
  a	
  xk	
  …	
  

•  A	
  descending	
  chain	
  is	
  a	
  sequence	
  
x1	
  s	
  x2	
  s	
  …	
  s	
  xk	
  …	
  

	
  
•  The	
  height	
  of	
  a	
  poset	
  (D,	
  b)	
  is	
  the	
  length	
  of	
  the	
  
maximal	
  ascending	
  chain	
  in	
  D	
  	
  



Complete	
  par3al	
  order	
  (CPO)	


•  A	
  poset	
  (D	
  ,	
  b)	
  is	
  a	
  complete	
  par3al	
  if	
  every	
  
ascending	
  chain	
  x1	
  a	
  x2	
  a	
  …	
  a	
  xk	
  …	
  has	
  a	
  LUB	




La_ces	


•  (D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  is	
  a	
  la_ce	
  if	
  
–  (D,	
  b)	
  is	
  a	
  par3al	
  order	
  	
  
– ∀X	
  `FIN	
  D	
  .	
  7X	
  is	
  defined	
  	
  
– A	
  top	
  element	
  º	

– ∀X	
  `FIN	
  D	
  .	
  6X	
  is	
  defined	
  	
  
– A	
  bo=om	
  element	
  Ω	
  

•  A	
  la_ce	
  (D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  is	
  a	
  complete	
  la_ce	
  if	
  
– 7X	
  and	
  6Y	
  are	
  defined	
  for	
  arbitrary	
  sets	
  



Example	
  I:	
  Sign	
  la_ce	


º 
 

Ω 
 

x=0 

x[0 

x<0 x>0 

xm0 



Example	
  II:	
  Powerset	
  la_ces	


•  (2X,	
  `,	
  4,	
  3,	
  —,	
  X)	
  is	
  the	
  powerset	
  la_ce	
  of	
  X	
  
– A	
  complete	
  la_ce	
  

	
  



Domain	
  Constructors	
  

•  Cartesian	
  products:	
  	
  0	
  <	
  x	
  ∧	
  0	
  <	
  y:	
  
•  Disjunc3ve	
  comple3on:	
  x	
  <	
  0	
  ∨	
  0	
  <	
  x	
  
•  Rela3onal	
  product:	
  (0	
  <	
  x	
  ∧	
  0	
  <	
  y)	
  ∨	
  (0	
  <	
  x	
  ∧	
  y	
  <	
  0)	
  	
  
•  Finite	
  maps:	
  [L1	
  ↦	
  x=	
  ⊤	
  ,	
  L2	
  ↦	
  x=0]	
  

– |{L1,	
  L2}|	
  finite	
  



Concrete	
  Seman3cs	




Collec3ng	
  seman3cs	


•  For	
  a	
  set	
  of	
  program	
  states	
  State,	
  we	
  define	
  
the	
  collec3ng	
  la_ce	
  
	
   	
  (2State,	
  `,	
  4,	
  3,	
  —,	
  State)	
  

•  The	
  collec3ng	
  seman3cs	
  accumulates	
  the	
  
(possibly	
  infinite)	
  sets	
  of	
  states	
  generated	
  
during	
  the	
  execu3on	
  
– Not	
  computable	
  in	
  general	
  



The	
  collec3ng	
  la_ce	


•  La_ce	
  for	
  a	
  given	
  control-­‐flow	
  node	
  v:	
  	
   	
  
	
  Lv=(2State,	
  `,	
  4,	
  3,	
  —,	
  State)	
  

•  La_ce	
  for	
  en3re	
  control-­‐flow	
  graph	
  with	
  
nodes	
  V:	
  
	
   	
   	
  LCFG	
  =	
  Map(V,	
  Lv)	
  

•  We	
  will	
  use	
  this	
  la_ce	
  as	
  a	
  baseline	
  for	
  sta3c	
  
analysis	
  and	
  define	
  abstrac3ons	
  of	
  its	
  
elements	




Equa3onal	
  defini3on	
  of	
  the	
  seman3cs	

•  R[2]	
  =	
  R[entry]	
  4	
  ’x:=x-1÷	
  R[3]	
  
•  R[3]	
  =	
  R[2]	
  3	
  {s	
  |	
  s(x)	
  >	
  0}	
  
•  R[exit]	
  =	
  R[2]	
  3	
  {s	
  |	
  s(x)	
  [	
  0}	
  
•  A	
  system	
  of	
  recursive	
  equa3ons	
  

•  Solu3on:	
  concrete	
  meaning	
  of	
  the	
  
program	
  

if x > 0 

x := x - 1 

entry 

exit 

R[entry]	


R[2]	


R[3]	
R[exit]	




An	
  abstract	
  seman3cs	


•  R[2]	
  =	
  R[entry]	
  7	
  ’x:=x-1÷#	
  R[3]	
  
•  R[3]	
  =	
  R[2]	
  6	
  {s	
  |	
  s(x)	
  >	
  0}#	
  
•  R[exit]	
  =	
  R[2]	
  6	
  {s	
  |	
  s(x)	
  [	
  0}#	
  
•  A	
  system	
  of	
  recursive	
  equa3ons	
  

•  Solu3on:	
  abstract	
  meaning	
  of	
  the	
  
program	
  
–  Over-­‐approxima3on	
  of	
  the	
  concrete	
  

seman3cs	
  	
  

if x > 0 

x := x - 1 

entry 

exit 

R[entry]	


R[2]	


R[3]	
R[exit]	


Abstract	
  transformer	
  for	
  x:=x-1	


Abstract	
  representa3on	
  
of	
  {s	
  |	
  s(x)	
  <	
  0}	
  	




Abstract	
  interpreta3on	
  via	
  concre3za3on	


set	
  of	
  states	
   set	
  of	
  states	
  
collec3ng	
  seman3cs	
  

statement	
  	
  S	
  
set	
  of	
  states	
   `

abstract	
  	
  
representa-on	
  
of	
  sets	
  of	
  states	
  

abstract	
  seman3cs	
  
statement	
  	
  S	
  

abstract	
  	
  
representa-on	
  
of	
  sets	
  of	
  states	
  

concre3za3on	
   concre3za3on	
  



Can	
  we	
  always	
  find	
  a	
  solu3on?	
  



Monotone	
  func3ons	


•  Let	
  L1=(D1,	
  b)	
  and	
  L2=(D2,	
  b)	
  be	
  two	
  posets	
  
•  A	
  func3on	
  f	
  :	
  D1	
  →	
  D2	
  is	
  monotone	
  if	
  for	
  every	
  
pair	
  x,	
  y	
  ∈	
  D1	
  
	
   	
  x	
  b	
  y	
  implies	
  f(x)	
  b	
  f(y)	
  

•  A	
  special	
  case:	
  L1=L2=(D,	
  b)	
  	
  
	
   	
   	
  f	
  :	
  D	
  →	
  D	
  	




Fixed-­‐points	

•  L	
  =	
  (D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  
•  f	
  :	
  D	
  →	
  D	
  monotone	
  
•  Fix(f)	
  =	
  {	
  d	
  |	
  f(d)	
  =	
  d	
  }	
  
•  Red(f)	
  =	
  {	
  d	
  |	
  f(d)	
  b	
  d	
  }	
  
•  Ext(f)	
  =	
  {	
  d	
  |	
  d	
  b	
  f(d)	
  }	
  
•  Theorem	
  [Tarski	
  1955]	
  

–  lfp(f)	
  =	
  6Fix(f)	
  =	
  6Red(f)	
  c	
  Fix(f)	
  
– gfp(f)	
  =	
  7Fix(f)	
  =	
  7Ext(f)	
  c	
  Fix(f)	


Red(f)	
  

Ext(f)	
  

Fix(f)	
  

º	
  

z	
  

lfp	
  

gfp	
  

fn(z)	
  

fn(º)	
  

1. 	
  A	
  solu3on	
  always	
  exist	
  	
  
2. 	
  It	
  unique	
  	
  
3. 	
  Not	
  always	
  computable	




Con3nuity	
  and	
  ACC	
  condi3on	


•  Let	
  L	
  =	
  (D,	
  b,	
  7,	
  Ω)	
  be	
  a	
  complete	
  par3al	
  order	
  
– Every	
  ascending	
  chain	
  has	
  an	
  upper	
  bound	
  

•  A	
  func3on	
  f	
  is	
  con3nuous	
  if	
  for	
  every	
  
increasing	
  chain	
  Y	
  `	
  D*,	
  	
  
	
   	
   	
  f(7Y)	
  =	
  7{	
  f(y)	
  |	
  y✌Y	
  }	
  

•  L	
  sa3sfies	
  the	
  ascending	
  chain	
  condi3on	
  (ACC)	
  
if	
  every	
  ascending	
  chain	
  eventually	
  stabilizes:	
  
	
   	
  d0	
  b	
  d1	
  b	
  …	
  b	
  dn	
  =	
  dn+1	
  =	
  …	
  	




Fixed-­‐point	
  theorem	
  [Kleene]	


•  Let	
  L	
  =	
  (D,	
  b,	
  7,	
  Ω)	
  be	
  a	
  complete	
  par3al	
  order	
  
and	
  a	
  con-nuous	
  func3on	
  f:	
  D	
  →	
  D	
  then	
  
	
  

	
   	
   	
  lfp(f)	
  =	
  7n✌N	
  fn(z)	
  

•  Lemma:	
  Monotone	
  func3ons	
  on	
  posets	
  
sa3sfying	
  ACC	
  are	
  con3nuous	
  
	
  



Resul3ng	
  algorithm	
  	

•  Kleene’s	
  fixed	
  point	
  theorem	
  
gives	
  a	
  construc3ve	
  method	
  
for	
  compu3ng	
  the	
  lfp	
  

º	
  

z	
  

lfp	
  
fn(z)	
  

f(z)	
  
f2(z)	
  

…	
  d	
  :=	
  z	
  
while	
  f(d)	
  g	
  d	
  do	
  
	
  	
  	
  	
  d	
  :=	
  d	
  7	
  f(d)	
  
return	
  d	


Algorithm	


lfp(f)	
  =	
  7n✌N	
  fn(z)	

Mathema3cal	
  defini3on	




Correctness	


•  Transformer	
  monotonicity	
  is	
  required	
  for	
  
termina3on	
  –	
  what	
  should	
  we	
  require	
  for	
  
correctness?	


•  What	
  is	
  the	
  connec3on	
  between	
  the	
  two	
  least	
  
fixed-­‐points	
  of	
  the	
  concrete	
  and	
  abstract	
  
seman3cs?	
  
	
  



Abstrac3on/Concre3za3on	

•  Given	
  two	
  complete	
  la_ces	
  
C	
  =	
  (DC,	
  bC,	
  7C,	
  6C,	
  ΩC,	
  ºC) 	
  –	
  concrete	
  domain	
  
A	
  =	
  (DA,	
  bA,	
  7A,	
  6A,	
  ΩA,	
  ºA) 	
  –	
  abstract	
  domain	
  

•  A	
  Galois	
  Connec3on	
  (GC)	
  is	
  quadruple	
  (C,	
  α,	
  γ,	
  A)	
  
that	
  relates	
  C	
  and	
  A	
  via	
  the	
  monotone	
  func3ons	
  
–  The	
  abstrac3on	
  func3on	
  α	
  :	
  DC	
  →	
  DA	
  

–  The	
  concre3za3on	
  func3on	
  γ	
  :	
  DA	
  →	
  DC	
  

•  for	
  every	
  concrete	
  element	
  c∈DC	
  
and	
  abstract	
  element	
  a∈DA	
  
	
   	
  α(γ(a))	
  b	
  a	
  and	
  c	
  b	
  γ(α(c))	
  

•  Alterna3vely	
  α(c)	
  b	
  a	
  iff	
  c	
  b	
  γ(a)	
  
–  Homework	
  



Galois	
  Connec3on:	
  c	
  b	
  γ(α(c))	


1	
  α	
  

γ	
  

c	
  
2	
  α(c)	
  

3	
  γ(α(c))	
  

b
	
  

The	
  most	
  precise	
  
(least)	
  element	
  in	
  
A	
  represen3ng	
  c	


C	
   A	
  



Galois	
  Connec3on:	
  α(γ(a))	
  b	
  a	


1	
  

α	
  

γ	
  

3	
  α(γ(a))	
  

2	
  γ(a)	
   a	
  

b
	
  

C	
   A	
  What	
  a	
  represents	
  in	
  C	
  
(its	
  meaning)	




Proper3es	
  of	
  a	
  Galois	
  Connec3on	


•  The	
  abstrac3on	
  and	
  concre3za3on	
  func3ons	
  
uniquely	
  determine	
  each	
  other:	
  
	
   	
  γ(a)	
  =	
  7{c	
  |	
  α(c)	
  b	
  a}	
  
	
   	
  α(c)	
  =	
  6{a	
  |	
  c	
  b	
  γ(a)}	




Abstrac3ng	
  sets	


•  It	
  is	
  usually	
  convenient	
  to	
  first	
  define	
  the	
  
abstrac3on	
  of	
  single	
  elements	
  
	
   	
   	
  β(s)	
  =	
  α({s})	
  	
  

•  Then	
  li{	
  the	
  abstrac3on	
  to	
  sets	
  of	
  elements	
  
	
   	
  	
  α(X)	
  =	
  7A	
  {β(s)	
  |	
  s∈X}	




Inducing	
  along	
  the	
  connec3ons	


1	
  αC,A	
  

γA,C	
  

c	
   2	
  αC,A(c)	
  

5	
  

C	
   A	
  

3	
  

M	
  

αA,M	
  

4	
  

γM,A	
  
c’	
  

a’	
  
=αA,M(αC,A(c))	
  



Sound	
  abstract	
  transformer	


•  Given	
  two	
  la_ces	
  
C	
  =	
  (DC,	
  bC,	
  7C,	
  6C,	
  ΩC,	
  ºC)	
  
A	
  =	
  (DA,	
  bA,	
  7A,	
  6A,	
  ΩA,	
  ºA)	
  
and	
  GCC,A=(C,	
  α,	
  γ,	
  A)	
  with	
  

•  A	
  concrete	
  transformer	
  f	
  :	
  DC→	
  DC	
  

an	
  abstract	
  transformer	
  f#	
  :	
  DA→	
  DA	
  

•  We	
  say	
  that	
  f#	
  is	
  a	
  sound	
  transformer	
  (w.r.t.	
  f)	
  if	
  
•  ≤c:	
  α(f(c))	
  b	
  f#(α(c))	
  
•  ≤a:	
  	
  α(f(γ(a)))	
  bA	
  f#(a)	




Transformer soundness condition 1 

1	
   2	
  

C	
   A	
  

f	
 3	
  
4	
  f#	


5	
  b
	
  

≤c:	
  f(c)=c’	
  ⇒	
  f#(α(c))	
  t	
  α(c’)	




Abstract	
  (conserva3ve)	
  interpreta3on	


set	
  of	
  states	
   set	
  of	
  states	
  
opera3onal	
  seman3cs	
  
(concrete	
  seman3cs)	
  

statement	
  	
  S	
  
set	
  of	
  states	
   `

abstract	
  	
  
representa-on	
   abstract	
  seman3cs	
  

statement	
  	
  S	
   abstract	
  	
  
representa-on	
  

concre3za3on	
   concre3za3on	
  



Transformer	
  soundness	
  condi3on	
  2	


C	
   A	
  

1	
   2	
  

f#	
 3	
  
5	
  f	


4	
  

b
	
  

≤a:	
  f#(a)=a’	
  ⇒	
  f(γ(a))	
  b	
  γ(a’)	




Abstract	
  (conserva3ve)	
  interpreta3on	


{x↦1,	
  x↦2,	
  …}	
   {x↦0,	
  x↦1,	
  …}	
  
opera3onal	
  seman3cs	
  
(concrete	
  seman3cs)	
  

x=x-­‐1	
  
{x↦0,	
  x↦1,	
  …}	
   `

0	
  <	
  x	
   abstract	
  seman3cs	
  
x	
  =	
  x	
  -­‐1	
  

0	
  ≤	
  x	
  

concre3za3on	
   concre3za3on	
  



Best	
  (induced)	
  transformer	


C	
   A	
  

2	
  
3	
  f	


f#(a)=	
  α(f(γ(a)))	


1	
  f#	

4	
  

Problem:	
  γ	
  
incomputable	
  	
  directly	




Best	
  abstract	
  transformer	
  [CC’77]	

•  Best	
  in	
  terms	
  of	
  precision	
  

– Most	
  precise	
  abstract	
  transformer	
  
– May	
  be	
  too	
  expensive	
  to	
  compute	
  

•  Construc3vely	
  defined	
  as	
  
	
   	
   	
  f#	
  =	
  α	
  )	
  f	
  )	
  γ	
  
–  Induced	
  by	
  the	
  GC	
  

•  Not	
  directly	
  computable	
  because	
  first	
  step	
  is	
  
concre3za3on	
  

•  We	
  o{en	
  compromise	
  for	
  a	
  “good	
  enough”	
  
transformer	
  
– Useful	
  tool:	
  par3al	
  concre3za3on	




Nega3ve	
  property	
  of	
  best	
  
transformers	


•  Let	
  f#	
  =	
  α	
  )	
  f	
  )	
  γ	
  
•  Best	
  transformer	
  does	
  not	
  compose	
  
	
   	
  α(f(f(γ(a))))	
  b	
  f#(f#(a))	




α(f(f(γ(a))))	
  b	
  f#(f#(a))	


C	
   A	
  

2	
  
3	
  f	


1	
  f#	

6	
  

5	
  
4

f	


7	
  

f#	


8	
  

9	
  

f	




Soundness	
  theorem	
  1	

1.  Given	
  two	
  complete	
  la_ces	
  

C	
  =	
  (DC,	
  bC,	
  7C,	
  6C,	
  ΩC,	
  ºC)	
  
A	
  =	
  (DA,	
  bA,	
  7A,	
  6A,	
  ΩA,	
  ºA)	
  
and	
  GCC,A=(C,	
  α,	
  γ,	
  A)	
  with	
  

2.  Monotone	
  concrete	
  transformer	
  f	
  :	
  DC→	
  DC	
  

3.  Monotone	
  abstract	
  transformer	
  f#	
  :	
  DA→	
  DA	
  

4.  ∀a∈	
  DA	
  :	
  f(γ(a))	
  b	
  γ(f#(a))	
  
Then	
  

	
   	
   	
  lfp(f)	
  b	
  γ(lfp(f#))	
  
	
   	
   	
  α(lfp(f))	
  b	
  lfp(f#)	




Soundness	
  theorem	
  1	


C	
   A	
  

z	
  z	
  
f	
  z	
  

fn	
  z	
  …
	
  

lpf(f)	
  z	
  

f2	
  z	
  

f3z	
  

f#n	
  z	
  

…
	
  

lpf(f#)	
  z	
  

f#2	
  z	
  
f#3z	
  

f#	
  z	
  



Soundness	
  theorem	
  2	

1.  Given	
  two	
  complete	
  la_ces	
  

C	
  =	
  (DC,	
  bC,	
  7C,	
  6C,	
  ΩC,	
  ºC)	
  
A	
  =	
  (DA,	
  bA,	
  7A,	
  6A,	
  ΩA,	
  ºA)	
  
and	
  GCC,A=(C,	
  α,	
  γ,	
  A)	
  with	
  

2.  Monotone	
  concrete	
  transformer	
  f	
  :	
  DC→	
  DC	
  

3.  Monotone	
  abstract	
  transformer	
  f#	
  :	
  DA→	
  DA	
  

4.  ∀c∈	
  DC	
  :	
  α(f(c))	
  b	
  f#(α(c))	
  
Then	
  

	
   	
   	
  α(lfp(f))	
  b	
  lfp(f#)	
  
	
   	
   	
  lfp(f)	
  b	
  γ(lfp(f#))	




Soundness	
  theorem	
  2	


C	
   A	
  

z	
  z	
  

f	
  z	
  

fn	
  z	
  …
	
  

lpf(f)	
  z	
  

f2	
  z	
  
f3z	
  

f#n	
  z	
  

…
	
  

lpf(f#)	
  z	
  

f#2	
  z	
  

f#3z	
  

f#	
  z	
  



A	
  recipe	
  for	
  a	
  sound	
  sta3c	
  analysis	

•  Define	
  an	
  “appropriate”	
  opera3onal	
  seman3cs	
  
•  Define	
  “collec3ng”	
  structural	
  opera3onal	
  
seman3cs	
  	
  

•  Establish	
  a	
  Galois	
  connec3on	
  between	
  collec3ng	
  
states	
  and	
  abstract	
  states	
  

•  Local	
  correctness:	
  show	
  that	
  the	
  abstract	
  
interpreta3on	
  of	
  every	
  atomic	
  statement	
  is	
  
sound	
  
w.r.t.	
  the	
  collec3ng	
  seman3cs	
  

•  Global	
  correctness:	
  conclude	
  that	
  the	
  analysis	
  is	
  
sound	
  



Completeness	

•  Local	
  property:	
  

–  forward	
  complete:	
  ≤c:	
  α(f#(c))	
  =	
  α(f(c))	
  
–  backward	
  complete:	
  ≤a:	
  f(γ(a))	
  =	
  γ(f#(a))	
  

•  A	
  property	
  of	
  domain	
  and	
  the	
  (best)	
  transformer	
  
•  Global	
  property:	
  

– α(lfp(f))	
  =	
  lfp(f#)	
  
–  lfp(f)	
  =	
  γ(lfp(f#))	
  

•  Very	
  ideal	
  but	
  usually	
  not	
  possible	
  unless	
  we	
  
change	
  the	
  program	
  model	
  (apply	
  strong	
  
abstrac3on)	
  and/or	
  aim	
  for	
  very	
  simple	
  
proper3es	
  



Forward complete transformer 

1	
   2	
  

C	
   A	
  

f	
 3	
  
4	
  

f#	


≤c:	
  α(f#(c))	
  =	
  α(f(c))	




Global	
  (forward)	
  completeness	


C	
   A	
  

z	
  z	
  

f	
  z	
  

fn	
  z	
  …
	
  

lpf(f)	
  z	
  

f2	
  z	
  
f3z	
  

f#n	
  z	
  

…
	
  

lpf(f#)	
  z	
  

f#2	
  z	
  

f#3z	
  

f#	
  z	
  



Backward	
  complete	
  transformer	


C	
   A	
  

1	
   2	
  

f#	
 3	
  
5	
  f	


≤a:	
  f(γ(a))	
  =	
  γ(f#(a))	




Global	
  (backward)	
  completeness	


C	
   A	
  

z	
  z	
  
f	
  z	
  

fn	
  z	
  …
	
  

lpf(f)	
  z	
  

f2	
  z	
  

f3z	
  

f#n	
  z	
  

…
	
  

lpf(f#)	
  z	
  

f#2	
  z	
  
f#3z	
  

f#	
  z	
  



Three	
  example	
  analyses	


•  Variable	
  Equali3es	
  
•  Constant	
  Propaga3on	
  
•  Available	
  Expressions	
  



Combining	
  GC	
  and	
  Transformers	
  	


•  Cartesian	
  Product	
  
– L1	
  =	
  (D1,	
  b1,	
  71,	
  61,	
  Ω1,	
  º1)	
  
L2	
  =	
  (D2,	
  b2,	
  72,	
  62,	
  Ω2,	
  º2)	
  

– Cart(L1,	
  L2)	
  =	
  (D1×D2,	
  bcart,	
  7cart,	
  6cart,	
  Ωcart,	
  ºcart)	
  
•  Disjunc3ve	
  comple3on	
  

– L	
  =	
  (D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  
– Disj(L)	
  =	
  (2D,	
  b-,	
  7-,	
  6-,	
  Ω-,	
  º-)	
  

•  Rela3onal	
  Product	
  
– Rel(L1,	
  L2)	
  =	
  Disj(Cart(L1,	
  L2))	




Cartesian	
  product	
  of	
  GCs	


•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	


•  Cartesian	
  Product	
  
	
   	
  GCC,A%B	
  =	
  (C,	
  αC,A%B,	
  γA%B,C,	
  A%B)	
  
– αC,A%B(X)	
  =	
  (αC,A(X),	
  αC,B(X))	
  
– γA%B,C(Y)	
  =	
  γA,C(X)	
  3	
  γB,C(X)	
  



Cartesian	
  product	
  transformers	

•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A) 	
  FA[st]	
  :	
  A	
  →	
  A	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B) 	
  FB[st]	
  :	
  B	
  →	
  B	


•  Cartesian	
  Product	
  
	
   	
  GCC,A%B	
  =	
  (C,	
  αC,A%B,	
  γA%B,C,	
  A%B)	
  
– αC,A%B(X)	
  =	
  (αC,A(X),	
  αC,B(X))	
  
– γA%B,C(Y)	
  =	
  γA,C(X)	
  3	
  γB,C(X)	
  

•  FA%B[st](a,	
  b)	
  =	
  (FA[st]	
  a,	
  FB[st]	
  b)	
  

•  Is	
  this	
  the	
  best	
  we	
  can	
  do?	
  



Product	
  vs.	
  reduced	
  product	

CP%VE	
  la_ce	


{a=9}{c=a} {c=9}{c=a} 

{a=9, c=9}{c=a} 
{[ah9,	
  c	
  h9]} 

collec3ng	
  la_ce	


{} 

γ	
  
γ	
  
γ	
  

α	
  



Reduced	
  product	


•  For	
  two	
  complete	
  la_ces	
  
	
  L1	
  =	
  (D1,	
  b1,	
  71,	
  61,	
  Ω1,	
  º1)	
  
	
  L2	
  =	
  (D2,	
  b2,	
  72,	
  62,	
  Ω2,	
  º2)	
  

•  Define	
  the	
  reduced	
  poset	
  
D16D2	
  =	
  {(d1,d2)cD1×D2	
  |	
  (d1,d2)	
  =	
  α)γ	
  (d1,d2)	
  }	
  
	
  L16L2	
  =	
  (D16D2,	
  bcart,	
  7cart,	
  6cart,	
  Ωcart,	
  ºcart)	




Transformers	
  for	
  Cartesian	
  product	


•  Do	
  we	
  get	
  the	
  best	
  transformer	
  by	
  applying	
  
component-­‐wise	
  transformer	
  followed	
  by	
  
reduc3on?	
  
– Unfortunately,	
  no	
  (what’s	
  the	
  intui3on?)	
  
– Can	
  we	
  do	
  be=er?	
  
– Logical	
  Product	
  [Gulwani	
  and	
  Tiwari,	
  PLDI	
  2006]	






Logical	
  product-­‐-­‐	


•  Assume	
  A=(D,…)	
  is	
  an	
  abstract	
  domain	
  that	
  
supports	
  two	
  opera3ons:	
  for	
  xcD	
  
–  inferEquali3es(x)	
  =	
  {	
  a=b	
  |	
  γ(x)	
  ~	
  a=b	
  }	
  
returns	
  a	
  set	
  of	
  equali3es	
  between	
  variables	
  that	
  
are	
  sa3sfied	
  in	
  all	
  states	
  given	
  by	
  x	
  

–  refineFromEquali3es(x,	
  {a=b})	
  =	
  y	
  
such	
  that	
  

•  γ(x)=γ(y)	
  
•  y	
  b	
  x	




Example	
  



Informa3on	
  loss	
  example	

if (…) 
  b := 5 
else 
  b := -5 
 
if (b>0) 
  b := b-5 
else 
  b := b+5 
assert b==0 

{} 
{b=5} 

{b=-5} 
{b=º} 

{b=º} 

{b=º} 
can’t prove 



Disjunc3ve	
  comple3on	
  of	
  a	
  la_ce	

•  For	
  a	
  complete	
  la_ce	
  
	
  L	
  =	
  (D,	
  b,	
  7,	
  6,	
  Ω,	
  º)	
  

•  Define	
  the	
  powerset	
  la_ce	
  	
  
L-	
  =	
  (2D,	
  b-,	
  7-,	
  6-,	
  Ω-,	
  º-)	
  
b-	
  =	
  ?	
  	
  	
  	
  	
  	
  	
  	
  7-	
  =	
  ?	
  	
  	
  	
  	
  	
  	
  	
  6-	
  =	
  ?	
  	
  	
  	
  	
  	
  	
  	
  Ω-	
  =	
  ?	
  	
  	
  	
  	
  	
  	
  	
  º-	
  =	
  ?	
  

•  Lemma:	
  L-	
  is	
  a	
  complete	
  la_ce	
  
•  L-	
  contains	
  all	
  subsets	
  of	
  D,	
  which	
  can	
  be	
  thought	
  
of	
  as	
  disjunc3ons	
  of	
  the	
  corresponding	
  predicates	
  

•  Define	
  the	
  disjunc3ve	
  comple3on	
  constructor	
  
L-	
  =	
  Disj(L)	
  



Disjunc3ve	
  comple3on	
  for	
  GCs	


•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	


•  Disjunc3ve	
  comple3on	
  
	
   	
  GCC,P(A)	
  =	
  (C,	
  αP(A),	
  γP(A),	
  P(A))	
  
– αC,P(A)(X)	
  =	
  ?	
  
– γP(A),C(Y)	
  =	
  ?	
  



Disjunc3ve	
  comple3on	
  for	
  GCs	


•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	


•  Disjunc3ve	
  comple3on	
  
	
   	
  GCC,P(A)	
  =	
  (C,	
  αP(A),	
  γP(A),	
  P(A))	
  
– αC,P(A)(X)	
  =	
  {αC,A({x})	
  |	
  x∈X}	
  
– γP(A),C(Y)	
  =	
  4{γP(A)(y)	
  |	
  y∈Y}	
  

•  What	
  about	
  transformers?	
  



Informa3on	
  loss	
  example	

if (…) 
  b := 5 
else 
  b := -5 
 
if (b>0) 
  b := b-5 
else 
  b := b+5 
assert b==0 

{} 
{b=5} 

{b=-5} 
{b=5	
  -	
  b=-­‐5} 

{b=0} 

{b=0} 
proved 



The	
  base	
  la_ce	
  CP	


{x=0} 

true 

{x=-1} {x=-2} {x=1} {x=2} …	
…	


false 



The	
  disjunc3ve	
  comple3on	
  of	
  CP	


{x=0} 

true 

{x=-1} {x=-2} {x=1} {x=2} …	
…	


false 

{x=-2-x=-1} {x=-2-x=0} {x=-2-x=1} {x=1-x=2} …	
 …	
 …	


{x=0-	
  x=1-x=2} {x=-1-	
  x=1-x=-2} …	
 …	
…	

…	


What	
  is	
  the	
  height	
  
of	
  this	
  la_ce?	




Taming	
  disjunc3ve	
  comple3on	

•  Disjunc3ve	
  comple3on	
  is	
  very	
  precise	
  

– Maintains	
  correla3ons	
  between	
  states	
  of	
  different	
  
analyses	
  

–  Helps	
  handle	
  condi3ons	
  precisely	
  
–  But	
  very	
  expensive	
  –	
  number	
  of	
  abstract	
  states	
  grows	
  
exponen3ally	
  

– May	
  lead	
  to	
  non-­‐termina3on	
  
•  Base	
  analysis	
  (usually	
  product)	
  is	
  less	
  precise	
  

–  Analysis	
  terminates	
  if	
  the	
  analyses	
  of	
  each	
  component	
  
terminates	
  

•  How	
  can	
  we	
  combine	
  them	
  to	
  get	
  more	
  precision	
  yet	
  
ensure	
  termina3on	
  and	
  state	
  explosion?	




Taming	
  disjunc3ve	
  comple3on	


•  Use	
  different	
  abstrac3ons	
  for	
  different	
  
program	
  loca3ons	
  
– At	
  loop	
  heads	
  use	
  coarse	
  abstrac3on	
  (base)	
  
– At	
  other	
  points	
  use	
  disjunc3ve	
  comple3on	
  

•  Termina3on	
  is	
  guaranteed	
  (by	
  base	
  domain)	
  
•  Precision	
  increased	
  inside	
  loop	
  body	




With	
  Disj(CP)	

while (…) { 
  if (…) 
    b := 5 
  else 
    b := -5 
 
  if (b>0) 
    b := b-5 
  else 
    b := b+5 
  assert b==0 
} 



With	
  tamed	
  Disj(CP)	

while (…) { 
  if (…) 
    b := 5 
  else 
    b := -5 
 
  if (b>0) 
    b := b-5 
  else 
    b := b+5 
  assert b==0 
} 

CP	


Disj(CP)	




Reducing	
  disjunc3ve	
  elements	


•  A	
  disjunc3ve	
  set	
  X	
  may	
  contain	
  within	
  it	
  an	
  
ascending	
  chain	
  Y=a	
  b	
  b	
  b	
  c…	
  

•  We	
  only	
  need	
  max(Y)	
  –	
  remove	
  all	
  elements	
  
below	




Rela3onal	
  product	
  of	
  la_ces	


•  L1	
  =	
  (D1,	
  b1,	
  71,	
  61,	
  Ω1,	
  º1)	
  
L2	
  =	
  (D2,	
  b2,	
  72,	
  62,	
  Ω2,	
  º2)	
  

•  Lrel	
  =	
  (2D1×D2,	
  brel,	
  7rel,	
  6rel,	
  Ωrel,	
  ºrel)	
  
as	
  follows:	
  
– Lrel	
  =	
  Disj(Cart(L1,	
  L2))	
  

•  Lemma:	
  L	
  is	
  a	
  complete	
  la_ce	
  
•  What	
  does	
  it	
  buy	
  us?	
  

– How	
  is	
  it	
  rela3ve	
  to	
  Cart(Disj(L1),	
  Disj(L2))?	
  
•  What	
  about	
  transformers?	




Rela3onal	
  product	
  of	
  GCs	


•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	


•  Rela3onal	
  Product	
  
	
  GCC,P(A%B)	
  =	
  (C,	
  αC,P(A%B),	
  γP(A%B),C,	
  P(A%B))	
  
– αC,P(A%B)(X)	
  =	
  ?	
  
– γP(A%B),C(Y)	
  =	
  ?	
  



Rela3onal	
  product	
  of	
  GCs	


•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  
GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	


•  Rela3onal	
  Product	
  
	
  GCC,P(A%B)	
  =	
  (C,	
  αC,P(A%B),	
  γP(A%B),C,	
  P(A%B))	
  
– αC,P(A%B)(X)	
  =	
  {(αC,A({x}),	
  αC,B({x}))	
  |	
  x∈X}	
  
– γP(A%B),C(Y)	
  =	
  4{γA,C(yA)	
  3	
  γB,C(yB)	
  |	
  (yA,yB)∈Y}	
  



Func3on	
  space	

•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  

GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	
  
•  Denote	
  the	
  set	
  of	
  monotone	
  func3ons	
  from	
  A	
  to	
  B	
  by	
  AtB	
  
•  Define	
  7	
  for	
  elements	
  of	
  AtB	
  as	
  follows	
  

(a1,	
  b1)	
  7	
  (a2,	
  b2)	
  =	
  if	
  a1=a2	
  then	
  {(a1,	
  b17B	
  b1)}	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  else	
  {(a1,	
  b1),	
  (a2,	
  b2)}	
  

•  Reduced	
  cardinal	
  power	
  
	
  GCC,AtB	
  =	
  (C,	
  αC,AtB,	
  γAtB,C,	
  AtB)	
  
–  αC,AtB(X)	
  =	
  7{(αC,A({x}),	
  αC,B({x}))	
  |	
  x∈X}	
  
–  γAtB,C(Y)	
  =	
  4{γA,C(yA)	
  3	
  γB,C(yB)	
  |	
  (yA,yB)∈Y}	
  

•  Useful	
  when	
  A	
  is	
  small	
  and	
  B	
  is	
  much	
  larger	
  
–  E.g.,	
  typestate	
  verifica3on	




Func3on	
  space	

•  GCC,A=(C,	
  αC,A,	
  γA,C,	
  A)	
  

GCC,B=(C,	
  αC,B,	
  γB,C,	
  B)	
  
•  Denote	
  the	
  set	
  of	
  monotone	
  func3ons	
  from	
  A	
  to	
  B	
  by	
  AtB	
  
•  Define	
  7	
  for	
  elements	
  of	
  AtB	
  as	
  follows	
  

(a1,	
  b1)	
  7	
  (a2,	
  b2)	
  =	
  if	
  a1=a2	
  then	
  {(a1,	
  b17B	
  b1)}	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  else	
  {(a1,	
  b1),	
  (a2,	
  b2)}	
  

•  Reduced	
  cardinal	
  power	
  
	
  GCC,AtB	
  =	
  (C,	
  αC,AtB,	
  γAtB,C,	
  AtB)	
  
–  αC,AtB(X)	
  =	
  7{(αC,A({x}),	
  αC,B({x}))	
  |	
  x∈X}	
  
–  γAtB,C(Y)	
  =	
  4{γA,C(yA)	
  3	
  γB,C(yB)	
  |	
  (yA,yB)∈Y}	
  

•  Useful	
  when	
  A	
  is	
  small	
  and	
  B	
  is	
  much	
  larger	
  
–  E.g.,	
  typestate	
  verifica3on	


75	




Widening/Narrowing	




How	
  can	
  we	
  prove	
  this	
  automa3cally?	


RelProd(CP,	
  VE)	




Intervals	
  domain	


•  One	
  of	
  the	
  simplest	
  numerical	
  domains	
  
•  Maintain	
  for	
  each	
  variable	
  x	
  an	
  interval	
  [L,H]	
  

– L	
  is	
  either	
  an	
  integer	
  of	
  -­‐∞	
  
– H	
  is	
  either	
  an	
  integer	
  of	
  +∞	
  

•  A	
  (non-­‐rela3onal)	
  numeric	
  domain	
  



Intervals	
  la_ce	
  for	
  variable	
  x	


Ω 

[0,0] [-1,-1] [-2,-2] [1,1] [2,2] ... ... 

[-­‐∞,+∞] 

[0,1] [1,2] [2,3] [-1,0] [-2,-1] 

[-10,10] 

[1,+∞] [-­‐∞,0] 

... ... 

[2,+∞] [0,+∞] [-­‐∞,-­‐1] [-­‐∞,-­‐1] ... ... 

[-20,10] 



Intervals	
  la_ce	
  for	
  variable	
  x	


•  Dint[x]	
  =	
  {	
  (L,H)	
  |	
  Lc-­‐∞,Z	
  and	
  HcZ,+∞	
  and	
  L≤H}	
  
•  Ω	
  
•  º=[-­‐∞,+∞]	
  
•  b	
  =	
  ?	
  

–  [1,2]	
  b	
  [3,4]	
  ?	
  
–  [1,4]	
  b	
  [1,3]	
  ?	

–  [1,3]	
  b	
  [1,4]	
  ?	
  
–  [1,3]	
  b	
  [-­‐∞,+∞]	
  ?	
  

•  What	
  is	
  the	
  la_ce	
  height?	




Intervals	
  la_ce	
  for	
  variable	
  x	


•  Dint[x]	
  =	
  {	
  (L,H)	
  |	
  Lc-­‐∞,Z	
  and	
  HcZ,+∞	
  and	
  L≤H}	
  
•  Ω	
  
•  º=[-­‐∞,+∞]	
  
•  b	
  =	
  ?	
  

–  [1,2]	
  b	
  [3,4]	
   	
   	
  no	
  
–  [1,4]	
  b	
  [1,3]	
   	
   	
  no	

–  [1,3]	
  b	
  [1,4]	
   	
   	
  yes	
  
–  [1,3]	
  b	
  [-­‐∞,+∞] 	
  yes	
  

•  What	
  is	
  the	
  la_ce	
  height?	
  Infinite	




Joining/mee3ng	
  intervals	


•  [a,b]	
  7	
  [c,d]	
  =	
  ?	
  
–  [1,1]	
  7	
  [2,2]	
  =	
  ?	
  
–  [1,1]	
  7	
  [2,	
  +∞]	
  =	
  ?	
  

•  [a,b]	
  6	
  [c,d]	
  =	
  ?	
  
–  [1,2]	
  6	
  [3,4]	
  =	
  ?	
  
–  [1,4]	
  6	
  [3,4]	
  =	
  ?	
  
–  [1,1]	
  6	
  [1,+∞]	
  =	
  ?	
  

•  Check	
  that	
  indeed	
  xby	
  if	
  and	
  only	
  if	
  x7y=y	




Joining/mee3ng	
  intervals	


•  [a,b]	
  7	
  [c,d]	
  =	
  [min(a,c),	
  max(b,d)]	
  
–  [1,1]	
  7	
  [2,2]	
  =	
  [1,2]	
  
–  [1,1]	
  7	
  [2,+∞]	
  =	
  [1,+∞]	
  

•  [a,b]	
  6	
  [c,d]	
  =	
  [max(a,c),	
  min(b,d)]	
  if	
  a	
  proper	
  
interval	
  and	
  otherwise	
  Ω	
  
–  [1,2]	
  6	
  [3,4]	
  =	
  Ω	
  
–  [1,4]	
  6	
  [3,4]	
  =	
  [3,4]	
  
–  [1,1]	
  6	
  [1,+∞]	
  =	
  [1,1]	
  

•  Check	
  that	
  indeed	
  xby	
  if	
  and	
  only	
  if	
  x7y=y	




Interval	
  domain	
  for	
  programs	


•  Dint[x]	
  =	
  {	
  (L,H)	
  |	
  Lc-­‐∞,Z	
  and	
  HcZ,+∞	
  and	
  L≤H}	
  
•  For	
  a	
  program	
  with	
  variables	
  Var={x1,…,xk}	
  
•  Dint[Var]	
  =	
  ?	




Interval	
  domain	
  for	
  programs	


•  Dint[x]	
  =	
  {	
  (L,H)	
  |	
  Lc-­‐∞,Z	
  and	
  HcZ,+∞	
  and	
  L≤H}	
  
•  For	
  a	
  program	
  with	
  variables	
  Var={x1,…,xk}	
  
•  Dint[Var]	
  =	
  Dint[x1]	
  %	
  …	
  %	
  Dint[xk]	
  
•  How	
  can	
  we	
  represent	
  it	
  in	
  terms	
  of	
  formulas?	




Interval	
  domain	
  for	
  programs	


•  Dint[x]	
  =	
  {	
  (L,H)	
  |	
  Lc-­‐∞,Z	
  and	
  HcZ,+∞	
  and	
  L≤H}	
  
•  For	
  a	
  program	
  with	
  variables	
  Var={x1,…,xk}	
  
•  Dint[Var]	
  =	
  Dint[x1]	
  %	
  …	
  %	
  Dint[xk]	
  
•  How	
  can	
  we	
  represent	
  it	
  in	
  terms	
  of	
  formulas?	
  

–  Two	
  types	
  of	
  factoids	
  x≥c	
  and	
  x≤c	
  
–  Example:	
  S	
  =	
  .{x≥9,	
  y≥5,	
  y≤10}	
  
– Helper	
  opera3ons	
  

•  c	
  +	
  +∞	
  =	
  +∞	
  
•  remove(S,	
  x)	
  =	
  S	
  without	
  any	
  x-­‐constraints	
  
•  lb(S,	
  x)	
  =	
  k	
  	
  	
  	
  if	
  	
  k	
  ≤	
  x	
  ≤	
  m	
  
•  ub(S,x)	
  =	
  m	
  	
  if	
  	
  k	
  ≤	
  x	
  ≤	
  m	




Assignment	
  transformers	

•  ’x	
  :=	
  c÷#	
  S	
  =	
  ?	
  
•  ’x	
  :=	
  y÷#	
  S	
  =	
  ?	
  
•  ’x	
  :=	
  y+c÷#	
  S	
  =	
  ?	
  
•  ’x	
  :=	
  y+z÷#	
  S	
  =	
  ?	
  
•  ’x	
  :=	
  y*c÷#	
  S	
  =	
  ?	
  
•  ’x	
  :=	
  y*z÷#	
  S	
  =	
  ?	
  



Assignment	
  transformers	

•  ’x	
  :=	
  c÷#	
  S	
  =	
  remove(S,x)	
  4	
  {x≥c,	
  x≤c}	
  
•  ’x	
  :=	
  y÷#	
  S	
  =	
  remove(S,x)	
  4	
  {x≥lb(S,y),	
  x≤ub(S,y)}	
  
•  ’x	
  :=	
  y+c÷#	
  S	
  =	
  remove(S,x)	
  4	
  {x≥lb(S,y)+c,	
  x≤ub(S,y)+c}	
  
•  ’x	
  :=	
  y+z÷#	
  S	
  =	
  remove(S,x)	
  4	
  {x≥lb(S,y)+lb(S,z),	
   	
   	
   	
   	
  

	
   	
  	
  	
  	
  	
  	
  	
  x≤ub(S,y)+ub(S,z)}	
  
•  ’x	
  :=	
  y*c÷#	
  S	
  =	
  remove(S,x)	
  4	
  if	
  c>0	
  {x≥lb(S,y)*c,	
  x≤ub(S,y)*c}	
  

	
   	
   	
   	
  	
  	
  	
  	
  	
  else	
  {x≥ub(S,y)*-­‐c,	
  x≤lb(S,y)*-­‐c}	
  
•  ’x	
  :=	
  y*z÷#	
  S	
  =	
  remove(S,x)	
  4	
  ?	
  



assume	
  transformers	

•  ’assume	
  x=c÷#	
  S	
  =	
  ?	
  
•  ’assume	
  x<c÷#	
  S	
  =	
  ?	
  
•  ’assume	
  x=y÷#	
  S	
  =	
  ?	
  
•  ’assume	
  x≠c÷#	
  S	
  =	
  ?	
  



assume	
  transformers	

•  ’assume	
  x=c÷#	
  S	
  =	
  S	
  6	
  {x≥c,	
  x≤c}	
  
•  ’assume	
  x<c÷#	
  S	
  =	
  S	
  6	
  {x≤c-­‐1}	
  
•  ’assume	
  x=y÷#	
  S	
  =	
  S	
  6	
  {x≥lb(S,y),	
  x≤ub(S,y)}	
  
•  ’assume	
  x≠c÷#	
  S	
  =	
  ?	
  



assume	
  transformers	

•  ’assume	
  x=c÷#	
  S	
  =	
  S	
  6	
  {x≥c,	
  x≤c}	
  
•  ’assume	
  x<c÷#	
  S	
  =	
  S	
  6	
  {x≤c-­‐1}	
  
•  ’assume	
  x=y÷#	
  S	
  =	
  S	
  6	
  {x≥lb(S,y),	
  x≤ub(S,y)}	
  
•  ’assume	
  x≠c÷#	
  S	
  =	
  (S	
  6	
  {x≤c-­‐1})	
  7	
  (S	
  6	
  {x≥c+1})	
  



Chao3c	
  itera3on	

•  Input:	
  

–  A	
  cpo	
  L	
  =	
  (D,	
  b,	
  7,	
  Ω)	
  sa3sfying	
  ACC	
  
–  Ln	
  =	
  L	
  ×	
  L	
  ×	
  …	
  ×	
  L	
  
–  A	
  monotone	
  func3on	
  f	
  :	
  Dn→	
  Dn	
  	
  
–  A	
  system	
  of	
  equa3ons	
  {	
  X[i]	
  |	
  f(X)	
  |	
  1	
  ≤	
  i	
  ≤	
  n	
  }	
  

•  Output:	
  lfp(f)	
  
•  A	
  worklist-­‐based	
  algorithm	


for	
  i:=1	
  to	
  n	
  do	
  
	
  	
  	
  	
  X[i]	
  :=	
  z	
  
WL	
  =	
  {1,…,n}	
  
while	
  WL	
  ≠	
  —	
  do	
  
	
  	
  	
  	
  j	
  :=	
  pop	
  WL	
  //	
  choose	
  index	
  non-­‐determinis3cally	
  
	
  	
  	
  	
  N	
  :=	
  F[i](X)	
  
	
  	
  	
  	
  if	
  N	
  ≠	
  X[i]	
  then	
  
	
  	
  	
  	
  	
  	
  	
  	
  X[i]	
  :=	
  N	
  
	
  	
  	
  	
  	
  	
  	
  	
  add	
  all	
  the	
  indexes	
  that	
  directly	
  depend	
  on	
  i	
  to	
  WL	
  
	
  	
  	
  	
  	
  	
  	
  	
  (X[j]	
  depends	
  on	
  X[i]	
  if	
  F[j]	
  contains	
  X[i])	
  
return	
  X	




Concrete	
  seman3cs	
  equa3ons	


•  R[0]	
  =	
  {x∈Z}	
  	
  
R[1]	
  =	
  ’x:=7÷	
  
R[2]	
  =	
  R[1]	
  4	
  R[4]	
  
R[3]	
  =	
  R[2]	
  3	
  {s	
  |	
  s(x)	
  <	
  1000}	
  
R[4]	
  =	
  ’x:=x+1÷	
  R[3]	
  
R[5]	
  =	
  R[2]	
  3	
  {s	
  |	
  s(x) ≥	
  1000}	
  	
  
R[6]	
  =	
  R[5]	
  3	
  {s	
  |	
  s(x) ≠	
  1001}	
  

R[0]	

R[2]	

R[3]	
 R[4]	


R[1]	


R[5]	

R[6]	




Abstract	
  seman3cs	
  equa3ons	


•  R[0]	
  =	
  α({x∈Z})	
  	
  
R[1]	
  =	
  ’x:=7÷#	
  
R[2]	
  =	
  R[1]	
  7	
  R[4]	
  
R[3]	
  =	
  R[2]	
  6	
  α({s	
  |	
  s(x)	
  <	
  1000})	
  
R[4]	
  =	
  ’x:=x+1÷#	
  R[3]	
  
R[5]	
  =	
  R[2]	
  6	
  α({s	
  |	
  s(x) ≥	
  1000})	
  
R[6]	
  =	
  R[5]	
  6	
  α({s	
  |	
  s(x) ≥	
  1001})	
  7	
  R[5]	
  6	
  α({s	
  |	
  s(x) ≤	
  999})	
  	
  

R[0]	

R[2]	

R[3]	
 R[4]	


R[1]	


R[5]	

R[6]	




Abstract	
  seman3cs	
  equa3ons	


•  R[0]	
  =	
  º	
  	
  
R[1]	
  =	
  [7,7]	
  	
  
R[2]	
  =	
  R[1]	
  7	
  R[4]	
  
R[3]	
  =	
  R[2]	
  6	
  [-­‐∞,999]	
  
R[4]	
  =	
  R[3]	
  +	
  [1,1]	
  
R[5]	
  =	
  R[2]	
  6	
  [1000,+∞]	
  	
  
R[6]	
  =	
  R[5]	
  6	
  [999,+∞]	
  7	
  R[5]	
  6	
  [1001,+∞]	
  

R[0]	

R[2]	

R[3]	
 R[4]	


R[1]	


R[5]	

R[6]	




Too	
  many	
  itera3ons	
  to	
  converge	




How	
  many	
  itera3ons	
  for	
  this	
  one?	




Widening	


•  Introduce	
  a	
  new	
  binary	
  operator	
  to	
  ensure	
  
termina3on	
  
– A	
  kind	
  of	
  extrapola3on	
  

•  Enables	
  sta3c	
  analysis	
  to	
  use	
  infinite	
  height	
  
la_ces	
  
– Dynamically	
  adapts	
  to	
  given	
  program	
  

•  Tricky	
  to	
  design	
  
•  Precision	
  less	
  predictable	
  then	
  with	
  finite-­‐
height	
  domains	
  (widening	
  non-­‐monotone)	




Formal	
  defini3on	

•  For	
  all	
  elements	
  d1	
  7	
  d2	
  b	
  d1	
  =	
  d2	
  	
  
•  For	
  all	
  ascending	
  chains	
  d0	
  b	
  d1	
  b	
  d2	
  b	
  …	
  
the	
  following	
  sequence	
  is	
  finite	
  (stabilizes)	
  
–  y0	
  =	
  d0	
  	
  
–  yi+1	
  =	
  yi	
  =	
  di+1	
  	
  

•  For	
  a	
  monotone	
  func3on	
  f	
  :	
  D→D	
  define	
  
–  x0	
  	
  =	
  z	
  
–  xi+1	
  =	
  xi	
  =	
  f(xi	
  )	
  

•  Theorem:	
  
–  There	
  exits	
  k	
  such	
  that	
  	
  xk+1	
  =	
  xk	
  
–  xkcRed(f)	
  =	
  {	
  d	
  |	
  dcD	
  and	
  f(d)	
  b	
  d	
  }	
  



Analysis	
  with	
  finite-­‐height	
  la_ce	


A	
  

z	
  

f#n	
  z=	
  lpf(f#)	
  z	
  …
	
  

f#2	
  z	
  
f#3z	
  

f#	
  z	
  

Red(f)	
  

Fix(f)	
  



Analysis	
  with	
  widening	


A	
  

z	
  

f#2z	
  =	
  f#3z	
  	
  

f#2	
  z	
  
f#3z	
  

f#	
  z	
  

Red(f)	
  

Fix(f)	
   lpf(f#)	
  z	
  



Widening	
  for	
  Intervals	
  Analysis	


•  z=	
  [c,	
  d]	
  =	
  [c,	
  d]	
  
•  [a,	
  b]	
  	
  =	
  [c,	
  d]	
  =	
  [	
  
	
  	
  	
   	
  if	
  a	
  ≤	
  c	
  
	
   	
  then	
  a	
  
	
   	
  else	
  -­‐∞,	
  
	
  if	
  b	
  ≥	
  d	
  
	
   	
  then	
  b	
  
	
   	
  else	
  ∞	
  	
  



Seman3c	
  equa3ons	
  with	
  widening	


•  R[0]	
  =	
  º	
  	
  
R[1]	
  =	
  [7,7]	
  	
  
R[2]	
  =	
  R[1]	
  7	
  R[4]	
  
R[2.1]	
  =	
  R[2.1]	
  =	
  R[2]	
  
R[3]	
  =	
  R[2.1]	
  6	
  [-­‐∞,999]	
  
R[4]	
  =	
  R[3]	
  +	
  [1,1]	
  
R[5]	
  =	
  R[2]	
  6	
  [1001,+∞]	
  	
  
R[6]	
  =	
  R[5]	
  6	
  [999,+∞]	
  7	
  R[5]	
  6	
  [1001,+∞]	
  

R[0]	

R[2]	

R[3]	
 R[4]	


R[1]	


R[5]	

R[6]	




Non	
  monotonicity	
  of	
  widening	
  

•  [0,1]	
  =	
  [0,2]	
  =	
  ?	
  
•  [0,2]	
  =	
  [0,2]	
  =	
  ? 	
  	
  	
  



Non	
  monotonicity	
  of	
  widening	
  

•  [0,1]	
  =	
  [0,2]	
  =	
  [0,	
  ∞]	
  
•  [0,2]	
  =	
  [0,2]	
  =	
  [0,2]	
  	
  	
  	
  



Analysis	
  with	
  narrowing	


A	
  

z	
  

f#2z	
  =	
  f#3z	
  	
  

f#2	
  z	
  
f#3z	
  

f#	
  z	
  

Red(f)	
  

Fix(f)	
   lpf(f#)	
  z	
  



Formal	
  defini3on	
  of	
  narrowing	
  
•  Improves	
  the	
  result	
  of	
  widening	
  
•  y	
  b	
  x	
  ⇒	
  y	
  b	
  (x	
  <y)	
  b	
  	
  x	
  
•  For	
  all	
  decreasing	
  chains	
  x0	
  t	
  x1	
  t…	
  

the	
  following	
  sequence	
  is	
  finite	
  (stabilizes)	
  	
  
–  y0	
  =	
  x0	
  
–  yi+1	
  =	
  yi	
  <	
  xi+1	
  	
  

•  For	
  a	
  monotone	
  func3on	
  f:	
  D→D	
  
and	
  xkcRed(f)	
  =	
  {	
  d	
  |	
  dcD	
  and	
  f(d)	
  b	
  d	
  }	
  
define	
  
–  y0	
  	
  =	
  x	
  
–  yi+1	
  =	
  yi	
  <	
  f(yi	
  )	
  

•  Theorem:	
  
–  There	
  exits	
  k	
  such	
  that	
  	
  yk+1	
  =yk	
  



Formal	
  defini3on	
  of	
  narrowing	
  
•  Improves	
  the	
  result	
  of	
  widening	
  
•  y	
  b	
  x	
  ⇒	
  y	
  b	
  (x	
  <y)	
  b	
  	
  x	
  
•  For	
  all	
  decreasing	
  chains	
  x0	
  t	
  x1	
  t…	
  the	
  following	
  sequence	
  is	
  finite	
  

–  y0	
  =	
  x0	
  
–  yi+1	
  =	
  yi	
  <	
  xi+1	
  	
  

•  For	
  a	
  monotone	
  func3on	
  f:	
  D→D	
  
and	
  xkcRed(f)	
  =	
  {	
  d	
  |	
  dcD	
  and	
  f(d)	
  b	
  d	
  }	
  define	
  
–  y0	
  	
  =	
  x	
  
–  yi+1	
  =	
  yi	
  <	
  f(yi	
  )	
  

•  Theorem:	
  
–  There	
  exits	
  k	
  such	
  that	
  	
  yk+1	
  =yk	
  
–  ykcRed(f)	
  =	
  {	
  d	
  |	
  dcD	
  and	
  f(d)	
  b	
  d	
  }	
  



Narrowing	
  for	
  Interval	
  Analysis	
  	
  
•  [a,	
  b]	
  <	
  z	
  =	
  [a,	
  b]	
  
•  [a,	
  b]	
  <	
  [c,	
  d]	
  =	
  [	
  
	
  	
  	
   	
  if	
  a	
  =	
  -­‐∞	
  	
  
	
   	
  then	
  c	
  
	
   	
  else	
  a,	
  
	
  if	
  b	
  =	
  ∞	
  
	
   	
  then	
  d	
  
	
   	
  else	
  b	
  	
  
	
  	
   	
   	
  ]	
  



Seman3c	
  equa3ons	
  with	
  narrowing	


•  R[0]	
  =	
  º	
  	
  
R[1]	
  =	
  [7,7]	
  	
  
R[2]	
  =	
  R[1]	
  7	
  R[4]	
  
R[2.1]	
  =	
  R[2.1]	
  <	
  R[2]	
  
R[3]	
  =	
  R[2.1]	
  6	
  [-­‐∞,999]	
  
R[4]	
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